

			Vendor	Ranking			Page 1 of 1
Letting:	04181207	December 07, 2018 10:30 AM	Call Order	: 001	Contract:	E4T29	
District:	District 4		Counties:	BROWARD	Fed Aid No	: N/A	
Contract Time:	730 CALEN	DAR DAYS			Project(s):	41308497201 (*)
Contract Deser							

Contract Desc: BROWARD COUNTY RETRO REFLECTIVE PAVEMENT MARKERS PRIMARY

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
<mark>1</mark>	COMPLETE HIGHWAY IDENTITY, INC.	Responsive	Winning bid	\$216,031.50	<mark>100.00%</mark>
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$223,722.64	103.56%
3	ROADSCAPE NORTH FLORIDA, INC.	Responsive	Non-Winning Bid	\$226,937.75	105.05%
4	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$255,146.00	118.11%
5	AKCA INC.	Responsive	Non-Winning Bid	\$265,431.10	122.87%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	12/26/18	BEGIN TIME:	10:30 AM
	END DATE:	01/02/19	END TIME:	10:30 AM



12/07/2018

Tabulation of Bids

Page 1 of 5

Letting:	04181207	December 07, 2018	Call Order:	001	Contract: E4T29
District:	District 4		Counties:	BROWARD	Fed Aid No: N/A
Contract Time:	730 CALEND	DAR DAYS			Project(s): 41308497201 (*)

Contract Descr: BROWARD COUNTY RETRO REFLECTIVE PAVEMENT MARKERS PRIMARY

The work under this Contract consists of Removal and Placement of Retro-Reflective Markers (RPMs) and Delineators on Primary Roads in Broward County.

MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on the budgeted amount of \$300,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

Line No / Item ID Item Descriptior		Quantity Units	(1) COMPLET IDENTIT		(2) ROGAR MAI CONSULTING	OF FLORIDA	``	CAPE NORTH DA, INC.
() indicates item is		••••••	Unit Price	Ext Amount	LLO Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION	: 0001 I	RAISED PAVE	MENT MARKER R	EPLACEMENT (EA)			
0005 0705 11 1 DELINEATOR, FLEX	(IBLE TUBULAR	1,963.000 EA	5.00000	9,815.00	39.61000	77,754.43	45.00000	88,335.00
0010 0705 11 3 DELINEATOR, FLEX VISABILITY MEDIAN	-	50.000 EA	65.00000	3,250.00	122.61000	6,130.50	125.00000	6,250.00
0015 0705 11 4 DELINEATOR, FLEX PERFORMANCE 48	-	1,000.000 EA	65.00000	65,000.00	47.61000	47,610.00	55.00000	55,000.00
0020 0706 3 RETRO-REFLECTIN PAVEMENT MARKE		500.000 EA	5.00000	2,500.00	3.61000	1,805.00	2.15000	1,075.00
0025 0710 11290 PAINTED PAVEMEN STANDARD, YELLC	NT MARKINGS,	10,000.000 SF E	1.50000	15,000.00	1.61000	16,100.00	1.17000	11,700.00
0030 E706 1 32 REFLECTIVE PAVE (REMOVE)(CLASS I		311.000 EA	1.50000	466.50	3.61000	1,122.71	0.25000	77.75



Tabulation of Bids

Page 2 of 5

Letting:	04181207	December 07,	2018 Ca	Il Order: 001		Contract:	E4T29	
Line No / Item Item Descriptio		ite Quantity Units	(1) COMPLET		(2) ROGAR MA CONSULTING	OF FLORIDA	· · /	CAPE NORTH DA, INC.
() indicates item	is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	RAISED PAVE	MENT MARKER F	REPLACEMENT (I	EA)			
0035 E706 1 4	2	30,000.000	4.00000	120,000.00	2.44000	73,200.00	2.15000	64,500.00
REFLECTIVE PAV MARKER(REMOV REPLACE)(CLASS	EAND	EA						
0001 RAISI MARKER REPLA		Section Totals:		\$216,031.50		\$223,722.64		\$226,937.75

Contract Grand Totals: \$216,031.50	\$223,722.64	226,937.75
-------------------------------------	--------------	------------



12/07/2018

Tabulation of Bids

Page 3 of 5

Letting: 04181207	December 07,	2018 Ca l	I Order: 001		Contract:	E4T29	
Line No / Item ID Alternate Item Description	e Quantity Units	(4) MCSHEA CO LL		(5) AKC	A INC.		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	RAISED PAVE	MENT MARKER R	EPLACEMENT (EA)			
0005 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR	1,963.000 EA	45.00000	88,335.00	50.00000	98,150.00		
0010 0705 11 3 DELINEATOR, FLEXIBLE HIGH VISABILITY MEDIAN	50.000 EA	100.00000	5,000.00	160.00000	8,000.00		
0015 0705 11 4 DELINEATOR, FLEXIBLE HIGH PERFORMANCE 48"	1,000.000 EA	45.00000	45,000.00	50.00000	50,000.00		
0020 0706 3 RETRO-REFLECTIVE/RAISED PAVEMENT MARKERS	500.000 EA	3.00000	1,500.00	7.50000	3,750.00		
0025 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NO	10,000.000 SF SE	2.50000	25,000.00	2.00000	20,000.00		
0030 E706 1 32 REFLECTIVE PAVEMENT MARKER (REMOVE)(CLASS B)	311.000 EA	1.00000	311.00	0.10000	31.10		
0035 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)	30,000.000 EA	3.00000	90,000.00	2.85000	85,500.00		
0001 RAISED PAVEMENT S MARKER REPLACEMENT (EA)	ection Totals:		\$255,146.00		\$265,431.10		



Tabulation of Bids

Page 4 of 5

Letting:	04181207	December 07,	2018 C	all Order: 001		Contract:	E4T29	
Line No / Item Item Descripti		e Quantity Units		CONTRACTING, LC	(5) AKCA INC.			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
Contract Grand Totals:				\$255,146.00		\$265,431.10		